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PAPER CODE 2022 (A) A
NPMBER: 1831 SSC PART-I (9th CLASS)

COMPUTER SCIENCE (NEW COURSE) GROUP-| 7 - () St
TIME ALLOWED: 15 Minutes OBJECTIVE (_}:‘3/’,#? 15 = =
MAXIMUM MARKS: 10 0= Af

P E | /L:’//b,'iu':‘dlb’iuiiwm.ﬂj u‘:/l:c‘:c_.xi.l./é-J :’//QK(} _uu:..c_J 2 C B A uLlf.z@bd_ulrf i
{24~ ! (z._laluvf i d):)u\_zﬂ“U(L-/Jﬂ 2 Jw/b ?’r;r“”hlaulfuﬁij_uy"d/d_// Sk L L/.g)/u;/lmt;‘;u‘ ke
Note you have four choices for each objective type quest:on as A, B, C and D. The choice -L// J’)}VU
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .
Q.No.1 A A
(1) Which word refers to something spontaneous and unplanned? fe g, dﬁ:,y"‘/fﬁﬁwf (1)

(A) Candid solution ¢34 (B)Actitout w3Teledl  (C)Prototype < (D) Toguess tdeis!

(2) In a flowchart :7 symbol represents: -f..&zfqlﬁymf S L,L“@lg:f’ (2)

(A) Decision (§t-.l<! {B) Input/out put.:,;;bi‘f/..*.;,uf (C) Processing -._f«rﬁ,; (D) Connector }?f

(3) The base of decimal number system is: ,géﬁ o uﬁd/rlbidwdﬁﬂ (3)
(A) 2 (B) 8 (C) 16 (D) 10

(4) Expression (A+B)+C is equal 0. -f-@ﬂ'/-f- __(A+B)+C f/: (4)
(A) A+(B.C) (B)A.B+AC (CYA+(B+C) (D)A.(B.C)

(5) Number"19"isequalto ___in binary system. B el M9 /_}uf(j’”djjl: (S)
(A) 10000 (B) 10011 (C) 101000 (D) 10110

(6) ____ allow users to communicate using e-mail, _ugl_ff’f- L e Lc'ﬂiu“-idic,riua.utf o (6)

news groups.

(A) Client server J;/_uﬁﬁ (B) Mail server ;}/«Jf (C) Data base server k5 (D) ISAserver s ISA

(7) ____isaway to protect an idea. -c.,ﬁ/LJKJWJ‘ X df (7)
(A) Patent =2k (B) Piracy (.4 (C) Encryption 6.5 (D) Softlifing il
(8) The fraudulent attempt by sending et L L e eI i I (8)
e-mails to obtain sensitive information such as user name, password and credit card detail is called:
(A) Patent sk (B) Sabotage e/ (C)DOS (D) Phishing £
(9) INHTML ___tagis used to bold e bbUecd L L0 S "STUDENT' @it HTML  (9)

the word "STUDENT".

(A) <u> (B) <i> (C) <b> (D) <p>
(10)  Which of the following protocol is used while browsing internet? ‘.‘9tﬁJWlJﬁs{qu/ﬁ;L/ﬁfwg}f (10)
(A) FTP | (B) HTTP (C) STP (D) SMTP

37(N)(Obj)( 7 )-2022(A)-20000 (MULTAN)



PAPER CODE 2022 (A) N\ Ay

NPMBER: 1833 SSC PART-l (9th CLASS)

COMPUTER SCIENCE (NEW COURSE) GROUP-I by o7 (i) Pl
TIME ALLOWED: 15 Minutes OBJECTIVE u:?/’,a? 15 = 2y
MAXIMUM MARKS: 10 10= AF

/’..»:,Jf: L /JL)//UJIV Uv‘.__/lf._w,u._,u" st ;ébm‘.lx&:u r;r/L,ngL? <t dfc..J D.siC:BA uili,-@feLJlff -2y
/;/,.J vyl -gz._bw [ MEITSY Q,.).,/ J[J:/ {mﬁbkulfuﬂgf._«ﬂ"gi_fc Sk L L.,/’jc,:(;_,}/l:ubc;...f _,’f_")
Note: you have four cho:ces for each objective type question as A, B, C and D. The choice - f/’/ J’);uulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbies. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 . | ﬁUlr
(1) isaway to protect an idea. ) A K.:.ﬁé?u/g,gf’uf I )]
(A) Patent L& (B) Piracy ﬁf*& (C) Encryption $/6.# (D) Soft lifting S
(2) The fraudulent attempt by sending et LSS el s et i (2)

e-mails to obtain sensitive information such as user name password and credit card detail is called:
(A) Patent 2t (B) Sabotage $67  (C)DOS (D) Phishing ¥
(3) INHTML_____tagis used to bold e bbyUen L O "STUDENT' st HTML  (3)

the word "STUDENT".

(A) <u> (B) <i> (C) <b> (D) <p>

(4) Which of the following protocol is used"While browsing intemet? Se B i f B Lsesst (4)
(A) FTP (B) HTTP (C) STP (D) SMTP

(5) Which word refers to something spontaneous and unplanned? fe fadis Kd,c:,,f’jsﬂwf (5)

(A) Candid solution ¢#5%"  (B)Actitout 23%eiedl  (C)Prototype < (D) Toguess tfssls

{6) In a flowchart E symbol represents: _.‘.,d)f.b‘./JsJ S u.u){ajﬁ (6)

(A) Decision $it-le} (B) Input/out put&,@if/.:gui (C) Processing _.76:'»_: (D) Connector /@’

(7) The base of decimal number system is: -::'_{::? u:*d/(iia'dwdjb‘fl @
(A) 2 (B) 8 (C) 16 (D) 10

(8) Expression (A+B)+ C isequal to: -l éruf/.:.’: ___ _(A+B)+C u"ﬁ’gf (8)
(A) A+(B.C) (B)A.B+A.C (C)A+(B+C) ° (D)A.(B.C)

(9) Number"19"isequalto __ inbinary system. -‘;_L";zﬂ/.a‘: Mo ;’uffb"/ Ljﬂ (9)
(A) 10000 (B) 10011 (C) 101000 (D) 10110

(10) ___ allow users to communicate using e-mail, -ugi.;f}’“:i:;h}”ui‘;d;/f'xlmﬁd luro‘-;JLa:,uL,f {10

News groups.

(A) Client server s«22  (B) Mail server 158 (C) Data base server s} (D) ISAserver s ISA

37(N)(Obj)( W 3¢ )-2022(A)-20000 (MULTAN)



PAPER CODE 2022 (A)

I\QMBER' 1835 SSC PART-I (9th CLASS)

COMPUTER SCIENCE (NEW COURSE) GROUP-| [ -

TIME ALLOWED: 15 Minutes OBJECTIVE (.2 15 = &y
MAXIMUM MARKS: 10 10= AF

S | ):LJ(B}{JM&UW‘L*'!?MJ)C-J: u;flj.ﬂ:é_J&V.f:Jfrﬁ{LéK@lﬁ -u}‘z"fé.: D.C:B-A caLlﬁ;—FJ_'igédlfﬁ Ly
{241 ~€L{?&JQ§H&E&&JJ‘JLJ{3.§: Ui 7l _{m:‘”‘.ﬂi‘,«'ﬁuﬁuf .:«J!‘U/L/C:: Sk L i_//:fu,-j»bup‘:,bg B L
Note: you have four choices for each objective type question as A, B, C and D. The choice j/’}J’ f:.:ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Number"9"isequalto___in binary system. 4,@:4'/.&1 M9 /f‘u.f{"/df; (1)
(A) 10000 (B) 10011 (C) 101000 (D) 10110

(2) __ allow users to communicate using e-mail, GBS S A el @)

News groups.

(A) Client server u/_*.:fLK (B) Mail server »/Jf (C) Data base server .s5%5 (D) ISAserver .y ISA

(3) _isaway to protect an idea. . )’.QK.:EG?J Lfg'f'u’( I )
(A) Patent &t (B) Piracy (-7, (C) Encryption $£.# (D) Softliing il
(4) The fraudulent attempt by sending et S sl YU kN i, (4)
e-mails to obtain sensitive information_such &s user niame password and credit'card detail is called:
(A) Patent &ot (B) Sabotage /6 f (C)DOS (D) Phishing
(5) INHTML ____tagis used to bold b 20 Sy 'STUDENT' Wt HTML  (5)

the word "STUDENT".

(A) <u> (B) <i> (C) <b> (D) <p>

(6) Which of the following protocol is used while browsing internet? fe. bﬁdb@‘ldﬁgwﬁiifjji ekl (B)
(A) FTP (B) HTTP (C) STP (D) SMTP

(7) Which word refers to something spontaneous and unplanned? ‘-’{_,LZJ,H;?KLL&:{:‘” /{'Jiéllxuf (7)

(A) Candid solution ¢34 (B)Actitout &57eieki  (C)Prototype =¥ (D) To guess L&l

(8) In a flowchar D symbol represents: -.T_LM:LQ..:»L&J E nggﬁ (8)

(A) Decision ($it-le! (B) Input/out pute,es T/i.—a;u! (C) Processing JCng (D) Connector }@/

(9) The base of decimal number system is: .,‘agy: L J,*J(ngfm‘fl (9)
(A) 2 (B) 8 (C)16 (D)y10 |

(10) Expression (A+B)+C is equal to; -c‘-t}ﬁz-’f.i ____(A+B)+C u{/{ﬂ (10)
(A) A+(B.C) (B)A.B+A.C (C)A+(B+C) (D)A.(B.C)

37(N)(Obi)( < 3 I )-2022(A)-20000 (MULTAN)



PAPER CODE 2022 (A)

| I\ﬂMBER: 1837 SSC PART-l (9th CLASS)

COMPUTER SCIENCE (NEW COURSE) GROUP-| /

TIME ALLOWED: 15 Minutes OBJECTIVE 02'3/’,-0 215 = =
MAXIMUM MARKS: 10 10= Af

S L /L)//b,ahr‘u'ﬂv‘ﬂul:’uwﬂa,gﬁ u;/JJZL:LVLJV/dedlf -u‘:'?_/c.) D.»iCB:A uijJbﬁdfff ket
f,.’u‘.j )1 gfd_lvbdw/']d/u-u»"’d/i../c‘{, J{}J/ ?nr"’hk._,liuﬁu"wﬂ&.// / K L L/JU!/'JM(«JL-U -ﬁi)
Note: you have four choices for each objective type question as A, B, C and D. The choice -/ g S /Quﬂfr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) The base of decimal number system is: -9.& o uerwiddeLiﬂ (1)
(A) 2 (B) 8 (C)16 (D) 10

(2) Expression (A+B)+ C isequal to: -.af_éﬁ.(b.‘é: ___ _(A+B)+C ﬂ/:gl (2)
(A) A+(B.C) (BJA.B+A.C (C)A+(B+C) (D)A.(B.C)

(3) Number"9"isequalto ____inbinary system. ,4;-?:?;:'/.5 I /J‘}‘/ d/'fg (3)
(A) 10000 (B) 10011 (C) 101000 (D) 10110

(4) __ allow users to communicate using e-mail, -ugé‘./ ﬁahﬁ”ﬁgﬂ-;ﬁfiﬂfﬁ.dfuézuaug( L (4)

news groups.

(A) Client server J,a/ubﬁlb/ (B) Mail server ),/J:' (C) Data base server 44,3 (D) ISAserver .- ISA

(5) ___isaway to protect an idea. sl ),QKJ&J LijTJ( (5
(A) Patent &, (B) Piracy .4} (C) Encryption $4.# (D) Soft liing &Ll
(6) The fraudulent attempt by sending et L sl E S o e LK-.:,):/C;ibyg (6)
e-mails to obtain sensitive information such as user name, password and credit card detail is called:
(A) Patent ity (B) Sabotage U’JK%‘}' (C) DOS (D) Phishing S
(7) INHTML ____tagis used to bold bl L L0 Sy "STUDENT' s HTML  (7)
the word "STUDENT".
(A) <u> (B) <i> (C) <b> (D) <p>
(8) Which of the following protocol is used while browsing internet? e, mdk»?ldﬁ:{l/uf.ﬂjlfﬁib:q;‘-’l (8)
(A) FTP (B) HTTP (C) STP (D) SMTP
(9) Which word refers to something spontaneous and unplanned? ?4.12}.1'?(6.&:,:“‘/&91.@[ (9)

(A) Candid solution JHJ;,J/ (B) Act it out .Lif.b[.:f I (C) Prototype <+ (D) To guess L&si!

(10) In a flowchart Z:j symbol represents: -g_G);;LHyUoJ D ‘,ﬂwgﬁ (10)

(A) Decision (§l-.le! (B) Input/out put.g&if/q,ui (C) Processing _@9{ (D) Connector }6‘//

N)(Obi)( 3 T 3 ¥)-2022(A)-20000 (MULTAN)
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COMPUTER SCIENCE (NEW COURSE) GROUP-|

TIME ALLOWED: 1.45 Hours

2022 (A)

SSC PART-l (9th CLASS)

br - o
7

[k 3

MAXIMUM MARKS: 40

40

1}

NOTE: Write same question number -;.Zyuu.’f;_{,)frﬂ;?é Z-,JJ/:"'JZA!/,‘JVU?;{QKQ!K
and its part number on answer book, as given in the question paper.

SECTIONA Jslo

2. Attempt any four parts.

(vi)

What is meant by Act it Out?
What is meant by selecting the best solution?

Draw symbol flow line and write its use.

What is the difference between verification and validation?

Convert ( 156) g into binary system.

What is meant by volatile memory?

3. Attempt any four parts.

(i)

(vi)

Give any two examples of Boolean Preposition.
Draw truth table using NOT operator.

Write expressions of Associative Law using AND
and OR operators.

How does routing process work in networking?
How does HTTP protocol work?

Why is server more powerful than client?

4. Attempt any four parts.

(v}  Whatis the use of <TITLE> tag?
(vi)
NOTE: Attempt any two questions.
5, Write a note on the types of test data.
4+2+2
6.
7. Describe DOS (Denial of Service) attack in detail.

Write two types of software piracy.
What is patent and why do we need to register it?
What are paired tags in HTML?

Define anchor in HTML.

8=2x4

8=2x4

8=2x4

/,Uu

W) Slod
SUBJECTIVE il.» 145 =

- fer iz §F 240
ol wiTeaedl ()
e EIL Sy M (i)
U S eSSt $ (i)
O E s ()

SIS sdes (156),, )

te e St flns  (vi)

- fe i lizlee 8 3 )
-mwawwm ()

e bR Sk NOT i)
R L g el Sy OR 9 AND (i
et S Bt e (i)

e b A (HTTP) Uy e B4y

S bl P bosl s ped S i

S ARSI

S Uden Sl e e ok,
tur ol A 3 m 8 HTML

AW P HTML

‘e JE K G <TITLE>

Write HTML code to italic the text "I Love Pakistan”. -7z 7304 HTML L Z2_/0e) "I Love Pakistan® o

SECTION-ll .2

16=8x2

4x2=8

_,g:({f..zi__{rl,ﬁ'rJL‘;j:/_*‘

_;_,_Jj/E/f-:._,u'li 29 3 Lﬁﬂguﬁu/':' ,Q‘)al_,:;j/.uf(ﬂ)g_fusldfgzﬁv

Differentiate between Star topology and Ring topology. Also give two advantages of each topology.

8 -;é.:ulﬁc_ Jf“’“__@l (Denial of Service) DOS

37(N)-2022(A)-20000 (MULTAN)

v)
(vi)

g fenlizee 8 4/

0)
(i)
(i)
(iv)
{v)
(vi)

Y ;agiﬁﬁaﬂiy‘»c.éf Oy

-5

-6

f



(

® 2022 (A) A
SSC PART-l (9th CLASS)
COMPUTER SCIENCE {(NEW COURSE) GROUP-ii

SUBJECTIVE e

MAXIMUM MARKS: 40 | 40 = AF
NOTE: Write same question number -9.6;;0:%_,;41:’,6?5 Z:/JJ/:‘}}"{AI/:UVL?:{QK(}B -y

and its part number on answer book, as given in the question paper.

SECTION-l Usl.e

W) Sl

TIME ALLOWED: 1.45 Hours 145 =

2. Attempt any four parts. 8=2x4 _éxful.lféi?ukc.éf uz/dlr
(i)  Whatis prototype? fe 2o (N
(i} Whatis meant by decision making? Tl e (filde? (ii)
(i) Whatis meant by GoTo notation in algorithm? Set e FIHAT i
(v)  Convert (101111), into hexadecimal. AR ASES (01111), ()
(v}  Define memory. g A (v)
(vi)  What is meant by base in number system? el e AP WS (Vi)
3. Attempt any four parts. 8=2x4 & feinliave 8 340w
() Prove by truth table that A.B = B.A AB=BA Sy etbd 5L A Q)
(i)  Whatis preposition? S sy i)
(i)  Write names of logical operators. _q&f}cz:;;,‘-.,;vfeﬁ (iii)
(iv)  Describe the working of web server. Stk el (i)
(v}  Write the use of Simple Mail Transfer Protocol. -u:“”Uia'ff’f ¥ (SMTP) dﬁ:{/‘*jf}&iﬁf V)
(vi)  URL stands for? e URL  (vi)
4. Attempt any four parts. 8=2x4 -.é{fa«pzé!zug‘:,éf -4/:‘U!f

() Define hacking. SISk Y (i)
(i)  Define Piracy, LIw A )
(i)  Whatis the use fo Anchor? et (il
(iv)  Whatis the use of OL tag? e J K F oL (iv)
(v)  What do we come to know about any file extension? Be = L1 SO W)

(vi)  Write HTML code to set background color to green.

SECTION-I (230

uufgifgmii./}’uéﬁil/tgb/w

(vi)

NOTE: Attempt any two questions. 16=8 x 2 -g{{fh;gw:@wmm,df Ly

5. Whatis flowchart? 2+6=8 -uf{b:’dfizd.‘?}b?’ﬂﬂﬂbxk:ﬁ e fed 5
Write a detailed note on determining requirements for a flowchart.

8. Wirite note on any four layers of computer network models. ,u:’fi;,:’,;ﬂjgu‘&f&ﬂﬂhﬁ;#)ﬁ.{ -6

7. What is relation between cryptographic 4 +4=8 -q&ﬁpwﬂ%tgd’bsgg L4 ?gz_JL; Vb BS 7

key and password. Write four characteristics of good password.

39(N)-2022

(A)-17000 (MULTAN)



F:\PER CODE 2022 (A) Y
SSC PART-l (9th CLASS {4}

NUMBER: 1832 ( ) /

COMPUTER SCIENCE (NEW COURSE) GROUP-II hs - nf (i) Ut

TIME ALLOWED: 15 Minutes OBJECTIVE u;’s/’,.a? L4155 = oDy

MAXIMUM MARKS: 10 10= /J’/

Ao | I3 QL Nperne St UL bsi el Sy Q6317 L& D 41 C B A A llpl vy LS
L4 -?ng:uf/éfdafgﬁ./ﬁi )‘:J:fb ,ijﬁwymn)ﬁ;}'auﬂ! Py Jok L i,f,afu;}bupc:.up s
Note: you have four choices for each objective type question as A, B, C and D. The choice -quf;g,}'}ﬁ-amr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) How many ws are identified in the understanding of a problem? i énJ@ug{.J ws ﬁfuj JJ—@Q (1)
(A) 3 (B) 4 (C) 5 (D) 6

(2) ____ startegy divides a complex problem into smaller problems. _« Jf(:w :ﬂ s i_f._f:ﬁf»*a,_cgyf e - (2)

(A) Divide and conquer o gnl;f(ﬂ:” (B) Guess 34l (C) Act it Out .'.JT..L;&..( I (D) Prototype <+
(3) Atleast byte/bytes are required ..‘;_L}ﬂ:«,u/:’ufu"'l/::z’y {J;;ﬁ,é.d:i.,&ﬁfu%@ff (3}

to store any information in a computer memory,

(A) 1 (BY2 (€)s3 (D) 4

(4) In hexadecimal number system the binary valugof ‘A" is: g ___“ag‘d,l;'d’ "A u:f(;'/ /J‘J"Jl/—c {4)
(A) 0011 (B) 0110 (C) 1010 : (D) 0010

(5) The binary value of (13) is: e A (13, )
(A) 1001 (B) 1101 (C) 1011 (D) 1000

(6) IPv4 Address is divided into________ parts. B, rtgg(;:‘“bfuﬁi/!@;: Pvd  (8)
(A) 8 (B)6 . (C) 4 (D) 2

(7) The symbol of copyright is: ,‘Lyﬂad/..*.r’ugéﬁ’ (7)
& ® ®) $ © © D) &

(8) In Caeser Cipher K bn St %ijdeJ@ “ELSE" elfmbadl Ui e il L3 p R (8)

method the plain text "ELSE" whold be encrypted into the Cipher text.

(A) HVOH (B) HHVO (C) HOVH (D} VOHH
(9) The element is a container for meta data (Data about data). -—?..%Lt:j&{uﬁf'c;-' {9)
. (A) <body> (B) <Head> (C) <title> (D) <html>
(10) The html code "< u > school < /u >" output is: -q_...‘.f,..:.iT Lﬁ/ 3 html "< u> school < /u >" (10)
(A) School (B) School (C) School (D)-Sehooi—

39(N)(Obj)( IX)-2022(A)-17000 (MULTAN)



PAPER CODE 2022 (A) S
® SSC PART- (9th CLASS
NUMBER: 1834 ( )
COMPUTER SCIENCE (NEW COURSE) GROUP-I Loy _ v’f () U:{V},ﬁ;{
TIME ALLOWED: 15 Minutes OBJECTIVE u‘:":/’,.ﬁ @15 = &b
MAXIMUM MARKS: 10 10= #AF

Ao \ SIS0 J L s fo Uil st el i g J6312 < fELEs D 1 C B A R MLy w2d
Lot KA R n S o b Sty o Phlo 2ot frr §ES% Sk | LS if psimliefl <55
Note: you have four choices for each objective type question as A, B, C and D. The choice ..u‘_/':"d’.'r'j;wwr
which you think is correct, fiil that bubble in front of that gquestion number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zere mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) The binary value of (13}, is: e BSAE (13 ()
(A) 1001 (B) 1101 (C) 1011 (D) 1000

(2) iPva Address s divided into _______parts. e b AP A P ()
(A) 8 (B)6 ©) 4 (D) 2

(3) The symbol of copyright is: ~e el AUGE (3)

@ ® B) $ © © D) &

(4) In Caeser Cipher Kot f K s Ve SEHE ELSE" witnla il W e e fLE S (&)

method the plain text "ELSE" whold be encrypted into the Cipher text.

(A) HVOH (B) HHVO {C) HOVH (D) VOHH

{5) The element is a container for meta data (Data about data). _q.L'oC&ﬁL‘;,uﬂ.‘%.i (5) .
(A) <body> (B) <Head> (C) <title> (D) <htmi=

(8} The himl code "< u > school < /u >" cutput is: -‘;...a.;,.:i‘f' J 5 html "< u > school < fu >" {(6)
(&) School {B) School (C) School (D)-=chenl—

(7) How many ws are identified in the understanding of a problem? = GyJ‘v“ub;.CJ ws ;_Lf(:g J,J:’/bﬂ (7
(A) 3 {B) 4 C) 5 (D) 6

(8) startegy divides a complex problem into smaller problems. - g/r:m Dﬁu:u”i.:{f,ﬁ'aﬁﬁf P I {8)
(A) Divide and conquer ;jiauufﬂﬁ (B) Guess »il#!  (C) Act it Out ...‘;3'7@1&‘: t (D) Prototype o

(9) Atleast______ bytelbytes are required celmen S ery b fL L e @

to store any information in a computer memary.

(A) 1 (B) 2 © 3 (D) 4

(10) In hexadecimal number system the binary value of "A" is: v =d0Ed A A MR (10)
{A) 0011 (B) 0110 {C)y 1010 (D) 0010

39(N)(Obj)( W ¥%)-2022(A)-17000 (MULTAN)



PAPER CODE 2022 (A)
®

SSC PART- (9th CLASS
NUMBER: 1836 ( ) |
COMPUTER SCIENCE (NEW COURSE) GROUP-I ss - h,_’.«:f () u‘"'v}r{
TIME ALLOWED: 15 Minutes OBJECTIVE Lf‘?/’.» 15 = &y
MAXIMUM MARKS: 10 10= AF

S § A3 QL et U ése L 36017 -t L5 D o C B A Azl vy LS
YEIN V]! -fé_lgg:ﬂ;:;éfufc.v;f&i.ﬁé J:)J.?b _b’m:;’w..r,ifuﬁbﬂwaJLfé JoK L L/,ifu:fbu_l,}::._g S
Note: you have four choices for each objective type question as A, B, C and D. The choice -u:/&gfﬂ;:‘».‘bﬂ”’
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 | A Ay

(1) The symbol of copyright is: ' —eemfends (1)
@ ® B $ © © (D) &

(2) In Caeser Cipher K onf il SenSUMS "ELSE" el eIl b e LS SR @)

method the plain text "ELSE" whold be encrypted into the Cipher text.

(A) HVOH (B) HHVO (C) HOVH (D) VOHH

(3) The element is a container for meta data (Data about data). -.é.%&jt&))”%.—j (3)
(A) <body> (B) Head> (C) <title> (D} <htmi>

(4) The htmi code "< u > school < /u >" output is: —& ok ¥ J/ 3 html "< u > school < fu>" {4)
(A) School (B) School (C) School (DySeioo—

(6) How many ws are identified in the understanding of a problem? -Lc,JnJ Liu,‘ig;.ff ws uf[‘:w 'J,m.g’f (5)
(A) 3 (B) 4 C) 5 (D) 6

(6) ____startegy divides a complex probiem info smaller problems. -;.&/ﬁ“ :)i‘ uﬁi.:ff.iﬁ*a@y = — (6)

(A} Divide and conquer v 3»15/?:? (B) Guess oLl (C) Actit Out wi‘ﬂ:;.:_f I (D) Prototype <+
(7) At least byte/bytes are required e e Sy fefd 2o iteds”

to store any information in a computer memory.

A) 1 B) 2 ©) 3 D 4

(8} In hexadecimal number system the binary value of "A" is: - =d Ged A u‘.'f;" “ ke (8)
(A) 0011 (B) 0110 (C) 1010 (D) 0010

(9) The binary value of (13)q is: e kA (13) | ©)
(A) 1001 (B) 1101 (C) 1011 (D) 1000

(10) IPv4 Address is divided into ______ parts, S b AU Al Pve (10)
(A) 8 (B)8 (C) 4 (D) 2

39(N)(Obj)( X ¥X 3)-2022(A)-17000 (MULTAN)



PAPER CODE 2022 (A)
®

SSC PART-l (9th CLASS
NUMBER: 1838 ( )
COMPUTER SCIENCE (NEW COURSE) GROUP-II fposs _ ..;:f (W) u""v};;{
TIME ALLOWED: 15 Minutes OBJECTIVE d@&x? w15 = =
MAXIMUM MARKS: 10 10= AF

Fe il LLﬁ?f:WJ&*ﬁvlﬁyna,J u:/’l:éié._!é:.tfé:dfrﬁ{qg@lﬁ -uj‘zé.,: D s CB-A @LL’?&@K’:LJV/; -
L4t Ko A RS S Hosts sl ot fras§E TG Sk | LS st ol s
Note: you have four choices for each objective type c{uestion as A, B, C and D. The choice -u“/f:d’}g‘-ﬁﬂir
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 ' A A

(1) The element is a container for meta data (Data about data). ﬂg_%&ﬁ.‘yﬂz‘__ﬂl (1)
(A) <body> (B) <Head> (C) <title> (D) <html>

(2) The html code "< u > school < /u >" output is: S 7 J 4 html "< u > school < /u >" (2)
{A) School (B) School (C) School (D) Sehoot—

(3) How many ws are identified in the understanding of a problem? -.«.;.&:fJL‘ﬁwg;J Ws u’.';r‘.j A2 (3)
(A) 3 (B) 4 (C) 5 (D) 6

(4) _____ startegy divides a complex problem.into smaller problems: q.c:-gjf(‘:%!‘.' S L:{J:Efaé,;ﬁf = ____ (4)

(A) Divide and conquer s/&;-&/ﬁw ’ (BY Guess n}m (C)Act it Out ...bf"llz.-;c,f I (D) Prototype <
(5) At least bytefbytes are required e P8 ey b bl L i Reds”  m)

to store any information in a computer memory.

(A) 1 (B) 2 (C) 3 (D) 4

(6) In hexadecimal number system the binary value of "A" is; e A A SR (e)
(A) 0011 (B) 0110 {C) 1010 (D) 0010

(7) The binary value of (13),, is: e AL 3, M
(A) 1001 (B) 1101 (C) 1011 (D) 1000

(8) IPv4 Address is dividedinto _______ parts. ?.;_rwﬂ"?u:uﬁﬁff‘,&ér IPv4 (8)
(A) 8 (B)6 () 4 (D) 2

(9) The symbol of copyright is: ~el ui-ﬂJ(éb/ (9)
@ ® B) $ | © (© (D) &

(10) InCaeser Cipher  Ki bt ten$BMH5 "ELSE" cibnbell I e sfld fie  (10)

method the plain text "ELSE" whold be encrypted into the Cipher text.

(A) HVOH (B) HHVO (C) HOVH (D) VOHH
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